Secondary 3 Honors Name:
11.1 Verifying Trigonometric Identities Practice
Verify each identity. Show all work.

1. tanxcscxcosx =1

2. tanx secx sinx = tan®x

3. (sinx —cosx)(sinx + cosx) =1 —2cos?x

4, (tanx)(1—cotx) =tanx—1

5 3 i: cos x—sinx
" sinx cosx sinx cos x
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COosSXx
. ——=secx + tanx
1-sinx

7.\sin*x — cos* x‘= sin? x — cos® x
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2sinx cotx+sinx—4 cotx—2 .
1 sinx — 2
2cotx+1

2.InX CotX +siny — Y «wofx — 2.
2siny cofx —Yaotx+giny -2

200t (S = 2) 4 (sinX-2)
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11.secx —cosx = sinxtanx
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1-2cosxsinx

sinx cosx

2cotx
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